                                                                                                                         Приложение 2

                              Задание по группам

Группа 1                                                        Группа 4    

1.log2(3x-6)=log2(2x-3);                                 1.log4(x + 3) = 4;

2.log
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x=-1;                                                   2.2log32x – 5log3x = 7;

3.log22x – 4log2x + 3 = 0;                               3.lg(x2 – 6) = lg(8 + 5x);

4.log2x = log23 + log25;                                  4.log
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4 + log
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x = log
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18;

5.xlog3x = 81.                                                    5. .xlog3x = 81.

Группа 2.                                                       Группа 5 

1.log0,52x + 3log0,5x + 2 = 0;                           1.log0,2(12x + 8) = log0,2(11x + 7);

2.log74 = log7x – log79;                                  2.log5x = 2;

3.log6(14 – 4x) = log6(2x + 2);                       3.3log42x – 7log4x + 2 = 0;

4.log3x = 
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;                                                   4.log2x = log23 + log25;

5.xlog3x = 81.                                                    5.xlog3x = 81.

Группа 3

1.lg2x2 + lgx2 = 6;

2.log3(x2 + 6) = log35x;

3.log2x = -0,5;

4.log
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 EMBED Equation.3  [image: image7.wmf]1

2

-

х

= 1;

5. .xlog3x = 81.
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